CHABOT-LAS POSITAS COMMUNITY COLLEGE DISTRICT

January 20, 2009

Agenda Item: 3.5

Subject: Professional Expert Personnel

<u>Recommended Action</u>: That the Board of Trustees approves the following Professional Expert Personnel.

I. <u>ASSIGNED TO CHABOT COLLEGE</u>

A. Employment

General

Aguirre, Elvira (nmi), effective 01/05/09 - 06/30/09, \$65.00/hour, not to exceed 100 hours. (maximum = \$6,500) Specialist for the Foster and Kinship Care Education (FKCE) program Autrey, Mari (nmi), effective 01/05/09 – 06/30/09, \$16.00/hour. House theatre manager for the Performing Arts Center Avitia, Ricardo I., effective 01/05/09 – 06/30/09, \$20.00/hour, not to exceed 1360 hours. (maximum = \$27,200)Assist with transferring high school students Avitia, Ricardo I., effective 01/05/09 – 06/30/09, \$25.00/hour, not to exceed 1716 hours. (maximum = \$42,900)Serve as lead liaison for the "Gear Up" program Bidgoli, Mahboube (nmi), effective 01/05/09 - 06/30/09, \$45.00/hour, not to exceed 200 hours. (maximum = \$9,000) Speech therapist for the Children's Center Brooks, Kwenu (nmi), effective 01/05/09 - 06/30/09, \$40.00/hour, not to exceed 1000 hours. (maximum = \$40,000) Sign language interpreter for the hearing impaired Bustamante, Susan C., effective 01/05/09 - 06/30/09, \$25.00/hour, not to exceed 200 hours. (maximum = \$5,000) Assist with online support and Spring 09 schedule and web information

> Farley, Sam (nmi), effective 01/05/09 – 06/30/09, \$30.00/hour, not to exceed 827 hours. (maximum = \$24, 810)Sign language interpreter for the hearing impaired Gold, Sarah L., effective 01/05/09 – 06/30/09, \$500.00/month. Mental health intern to provide supervised mental health counseling to students Harrell, Dorothea (nmi), effective 01/05/09 - 06/30/09, \$20.00/hour, not to exceed 200 hours. (maximum = \$4,000) Specialist for the Community Action Outreach to Infants (CARI) program Kollias, Patricia D., effective 01/05/09 – 06/30/09, \$15.00/hour. House theatre manager for the Performing Arts Center Lounsbury, Karen S., effective 01/05/09 – 06/30/09, \$190/student. Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program Manzo, Melinda (nmi) effective 01/05/09 – 06/30/09, \$40.00/hour, not to exceed 400 hours. (maximum = \$16,000)Sign language interpreter for the hearing impaired Mendiola, Lisa A., effective 01/05/09 – 06/30/09, \$20.00/hour, not to exceed 30 hours/week. Retention activities and follow-up for students and potential applicants Mendiola, Lisa A., effective 01/05/09 – 06/30/09, \$20.00/hour, not to exceed 20 hours/week. (maximum = \$6,400) Assist with flea market preparation and documentation Pagano, Michelle E., effective 01/05/09 – 06/30/09, \$35.00/hour, not to exceed 958 hours. (maximum = \$33,530)Sign language interpreter for the hearing impaired Phillip, Vanessa (nmi), effective 01/05/09 – 06/30/09, \$15.00/hour. House theatre manager for the Performing Arts Center Powell, Charlene, effective 01/21/09 – 06/30/09, \$40.00/hour. Sign language interpreter for the hearing impaired

| Ramos, Amparo M., effective 01/05/09 – 06/30/09, \$648 flat rate. Office hours for services to English Language Learners, Early Childhood Development students |
|---|
| Reyes, Leticia (nmi), effective 01/05/09 – 06/30/09, \$20.00/hour, not to exceed 1169 hours. (maximum = \$23,380) Assist in the outreach and retention project |
| Yano, Nancy C., effective 01/05/09 – 06/30/09, \$32.00/hour, not to exceed 923 hours. (maximum = \$29,536) Stenocaptioner |
| Community Education |
| Capps, Ann J., effective 01/05/09 – 06/30/09, \$30.00/hour, not to exceed 36 hours. (maximum = \$1,080) Community education instructor to teach quilting class |
| Carlsen, Lisa (nmi), effective 01/05/09 – 06/30/09, \$10.00/student. Community education instructor to provide craft classes to community residents |
| Carlsen, Lisa (nmi), effective 01/05/09 – 06/30/09, \$25.00/hour, not to exceed 8 hours. (maximum = \$200) Community education instructor to provide scrapbooking classes to community residents |
| DeLeon, Emerlita A., effective 01/05/09 – 06/30/09, \$45.00/hour, not to exceed 48 hours. (maximum = \$2,160) Community education instructor to teach dance classes |
| Franko, Manuel (nmi), effective 01/05/09 – 06/30/09, \$45.00/hour, not to exceed 15 hours. (maximum = \$675) Community education instructor to provide auto mechanics classes to community residents |
| Kensinger, Keary M., effective 01/05/09 – 06/30/09, \$45.00/hour, not to exceed 32 hours. (maximum = \$1,440) Community education instructor for walking tours |
| |

> Kubicki, Jenny (nmi), effective 01/05/09 - 06/30/09, \$25.00/hour, not to exceed 350 hours. (maximum = \$8,750) Community education instructor to provide swimming classes to community residents Powell, Catherine V., effective 01/05/09 - 06/30/09, \$35.00/hour, not to exceed 50 hours. (maximum = \$1,750) Community education instructor to teach "Conversational ESL" classes Queyrel, Don (nmi), effective 01/05/09 – 06/30/09, \$45.00/hour, not to exceed 90 hours. (maximum = \$4,050) Community education instructor to provide basketball classes to community residents Racine, Warren E., effective 01/05/09 - 06/30/09, \$39.50/student. Community education instructor to teach "Foreclosures" class Racine, Warren E., effective 01/05/09 - 06/30/09, \$17.50/student. Community education instructor to teach "Real Estate Auction" class Ugale, Rachel A., effective 01/21/09 - 06/30/09, \$45.00/hour, not to exceed 15 hours. (maximum = \$675)Community education instructor for computer classes Wood, Royce, effective 01/05/09 – 06/30/09, \$45.00/hour, not to exceed 18 hours. (maximum = \$810)Community education instructor for "How to Make Fruit Wine" class ASSIGNED TO LAS POSITAS COLLEGE A. Employment

General

II.

Aguirre, Elvira (nmi), effective 01/05/09 - 06/30/09, \$65.00/hour, not to exceed 60 hours. (maximum = \$3,900)

Provide training for foster parents and kinship caregivers in Eastern Alameda

Day, Motoko F., effective 01/05/09 – 06/30/09, \$30.00/hour. Provide international student outreach and recruitment

> Gecox, Heike, effective 01/21/09 - 06/30/09, \$40.00/hour, not to exceed 200 hours. (maximum = \$8,000)Administer assessments for Disabled Student Programs and Services (DSPS) Gioia, James J., effective 01/21/09 - 06/30/09, \$50.00, not to exceed 200 hours. (maximum = \$10,000)Outreach liaison to work with the Department of Rehabilitation and special work session with DSPS staff for training Hearn, Christine, effective 01/21/09 – 06/30/09, \$50.00/hour, not to exceed 200 hours. (maximum = \$10,000) Interpreter for hearing impaired students Heath, Jenna E., effective 01/05/09 - 06/30/09, \$3,167/month. (maximum = \$19,002) Specialist to coordinate the outreach activities and to develop the program to include the student ambassador program and other community outreach activities Herrera, Leticia G., effective 01/05/09 – 06/30/09, \$15.00/hour, not to exceed 15 hours/week. (maximum = \$4,500) Business mentor for software applications and databases for the LaPTechS program Hirashiki, Abby K., effective 01/21/09 – 06/30/09, \$3,000 flat rate. Coordinate mentor training, parent coordinator, plan and implement events, monitor budget report to Foundation board and serve as a mentor liaison Hubbard, Sarah E., effective 01/05/09 - 06/30/09, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)Provide skills evaluation of Emergency Medical Technician courses Impey, Donna J., effective 01/21/09 – 06/30/09, \$27.50/hour, not to exceed 200 hours. (maximum = \$5.500)Assist with incoming students and special projects for DSPS Mangan, Joseph M., effective 01/16/09 – 06/30/09, \$17.00/hour, not to exceed 25 hours/week. (maximum = \$10,200) Technical mentor for the LaPTechS Outside Contracts Program Maselli, Robert J., effective 01/05/09 – 06/30/09, \$75.00/hour, not to exceed 60 hours. (maximum = \$4.500)Provide training for foster parents and kinship caregivers in Eastern Alameda

> McClendon-Hinnenkamp, Wendy L., effective 01/21/09 – 06/30/09, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500) Emergency Medical Technicians Skills Evaluation

> Moore, Rachel M., effective 01/21/09 – 06/30/09, \$32.00/hour, not to exceed 200 hours. (maximum = \$6,400) Captioner for hearing impaired students

Rogers, Denise T., effective 01/05/09 - 06/30/09, \$15.00/hour, not to exceed 25 hours/week. (maximum = \$7,500)

Business mentor for the LaPTechS program and coordinates projects with community employers and internship program

- Schoenecker, Paula M., effective 01/21/09 06/30/09, \$50.00/hour. Re-assessing the structure of the Learning Disability program that includes policies, processes, forms and assessment
- Schoenecker, Paula M., effective 01/21/09 06/30/09, \$3,000 flat rate. Re-write the entire learning skills curricula, five course major revisions and several new courses

Walters, Elizabeth E., effective 01/21/09 - 06/30/09, \$50.00/hour, not to exceed 200 hours. (maximum = \$10,000)

Sign language interpreter for hearing impaired students

Wells, Karen R., effective 01/05/09 - 06/30/09, \$75.00/hour, not to exceed 60 hours. (maximum = \$4,500)

Provide training for foster parents and kinship caregivers in Eastern Alameda

Community Education

Vlieks, Ute (nmi), effective 01/05/09 - 06/30/09, 100/student-basic and 120/student - H106X.

Community education instructor to provide horsemanship instruction to community residents

III. ASSIGNED TO DISTRICT SERVICES

A. Employment

General

Buhowsky, Joseph A., effective 01/05/09 – 06/30/09, \$80.00/hour. Provide training to local area companies

Chaney, Lavonne L., effective 01/05/09 - 06/30/09, \$15.00 hour, not to exceed 1589 hours. (maximum = \$23,835)

To provide training and support as a parent advocate for Alameda County Social Services under the Title IV-E contract

Yabuki, Mary D., effective 01/05/09 - 06/30/09, \$16.50/hour not to exceed 1564 hours/month. (maximum = \$25,806)

To provide training and support as a parent advocate for Alameda County Social Services under the Title IV-E contract

Submitted: Mary Anne Gularte/Date

Approved: Joel L. Kinnamon/Date

____ APPROVED

_____ DISAPPROVED

_____ TABLED